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METRIC CONVERSION TABLE 

ENGLISH UNIT EQUIVALENT METRIC UNIT 

Inch (in) 2.54 Centimeters 

Foot (ft) 0.3048 Meter 

Mile (mi) 1.609 Kilometers 

Acre 0.405 Hectare 

Square mile (sq. mi.) 2.590 Square kilometer 

U. S. gallon (gal) 3.785 Liters 

Acre foot (acre-ft) 1233.5 Cubic meters 

U. S. gallon per minute (gpm) 0.0631 Liters per second 

Cubic feet per second (cfs) sa Cubic meters 
per minute 
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ABSTRACT 

Part 2 of Appendix C tabulates ground water measurements taken in the Lahontan, Colorado River Basin, Santa 
Ana, and San Diego Drainage Provinces from July 1, 1963, through June 30, 1964. The tabulations list water 
surface elevations at wells, along with state well numbers, ground surface elevation at wells, depth to water 
from ground surface, date of measurement, and name of agency supplying the data. A summary of recharge 

activities for the 1963-6) water year is given. Foldout maps depict drainage provinces, boundaries of 
hydrologic areas, and areas of water-bearing sediments. 
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INTRODUCTION 

This publication contains ground water data for the Lahontan, 

Colorado River Basin, Santa Ana, and San Diego Drainage Provinces. The loca- 

tion of these four provinces are shown on Plates 1 through +. These four 

Grainage provinces, plus the Central Coastal and Los Angeles Drainage Province, 

make up the Southern California area, which is showm on Figure 1. Data on 

the other two drainage provinces are presented in a separate publication, 

Part 1, Appendix C. 

Hydrographs of key wells illustrating the ground water level fluc- 

tuations are shown on Figures 2 through 6. The locations of these wells are 

shown on Plates 1 through /:, which are bound at the back of this report. 

These wells were chosen because they provide a representative sample of ground 

water levels in the major drainage basins. 

Tabulations of ground water measurements made during the period 

July 1, 1963, to June 30, 1961, are given by hydrologic areas in Tables C-1 

through C-:. The tabulations show the state well number, ground surface ele- 

vation, date of measurement, distance from ground surface to water surface, 

water surface elevation, and agency supplying the data. 

The replenishment of ground water basins by artificial recharge or 

surface runoff and imported water is widely practiced in Southern California. 

A summary of the principal recharge activities is presented in Table C-5. 

MEASUREMENT TECHNIQUES 

Unless otherwise indicated, the measurements given are of static 

water levels. There are recorded measurements of approximately 7,500 wells 

in Partsl and 2 of Appendix C of this bulletin of which only about 400 wells 
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are measured by the Department. In most wells, the depth to water is a 

direct measurement made with a metal tape or electric sounder and is accurate 

to + 0.1 foot per hundred feet. Some wells, measured by certain cooperators, 

are measured by an air line and pressure gage and these measurements are 

generally accurate to + 1 foot per hundred feet. 

In the tabulations of ground water levels at wells in this volume, 

the code words "FLOW" and "DRY" are used in some instances in the colum 

"Dist. G. S. to Water Surface, in Feet". The word "FLOW" means an observa- 

tion where water was freely flowing over the top of the casing because the 

piezometric elevation at the well was greater than the elevation of the top 

of the casing. The word “DRY' is used when no standing water was observed 

in the well because the depth to ground water was equal to or greater than 

the depth of the well. 

Values in the column "Dist. G. S. to Water Surface, in Feet" in this 

cover may be followed with an alphabetic character or asterisk, which indi- 

cates a qualified or questionable measurement. "P" indicates that the well 

was being pumped at the time of measurement. "A" indicates that the measure- 

ment was made by air gage. An asterisk indicates that a nearby pump was 

operating, the casing was leaking or wet, the well was pumped recently, or, 

for some other reason, the measurement was thought to be questionable. 

The ground surface elevations for most of the wells for which data 

are given in this report were obtained by measurement, usually by engineer's 

level. However, when a direct measurement was not available, the ground sur- 

face elevation was estimated from topographic maps. Estimated elevations 

are indicated by a double asterisk immediately following the value. 
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CODING 

To facilitate machine processing of hydrologic data published in 

this report, codes using numerals and letters designate hydrologic areas, 

wells, agencies, and other pertinent notes. These codes are described in the 

following paragraphs. 

Hydrologic Area Coding System 

Bulletin No. 130-63, Volume V, introduced a new coding system based 

primarily on drainage boundaries. This system superseded the areal designa- 

tion code based on ground water basins. 

Briefly, the new areal designation code identifies a hydrologic 

area by a system of five characters in the form A-11.Al, consisting of two 

letters and three numerals. The letter to the left of the dash refers to the 

drainage province. The two numerals to the left of the decimal point refer 

to the hydrologic unit. The one letter and the one numeral to the right of 

the decimal point refer to the hydrologic subunit and hydrologic subarea, 

respectively. However, when a hydrologic subunit is not divided into hydrolo- 

gic subareas, the character to the far right is a zero. When a hydrologic 

unit is not divided into hydrologic subunits, both of the characters to the 

right of the decimal are zeros. 

A complete description and a discussion of the new coding system 

are described in an office report entitled "Names and Areal Code Numbers of 

Hydrologic Areas in the Southern District", dated April 1964. 

Well Numbering System 

The State Well Numbering System used in this report is based on 

township, range, and section subdivision of the Public Land Survey. It is 
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the system used in all ground water investigations and for numbering all 

wells for which data are published or filed by the Department of Water 

Resources. In this report, the number of a well, assigned in accordance 

with this system, is referred to as the state well number. 

Under the system, each section is divided into 40-acre tracts 

lettered as follows: 

Note that I and O are omitted in the grid above. 

Wells are numbered within each 40-acre tract according to the chron- 

ological sequence in which they have been assigned state well numbers. For 

example, a well that has the number 16N/3E-17K1, M, would be in Township 

16 North, Range 3 East, Section 17, Mount Diablo Base and Meridian, and would 

be further designated as the first well assigned a state well number in tract 

K. Well numbers in this volume are referenced to the Mount Diablo Base and 

Meridian (M) or the San Bernardino Base and Meridian (S). 

Agency Code 

The agency code used in this report for ground water measurements 

consists of four numerals for indicating the agency supplying the data. 

The digit on the far left indicates the well numbering system used 

by the agency as follows: 



1. The location numbering system originated by the Los Angeles 

County Flood Control District, based on 6-minute quadrangle 
maps. 

2. The Ventura County Flood Control District numbering system. 

3. The State Serial Numbering System originally used in the 

Bulletin No. 39 series. 

4. Local agency numbering system. 

5. Official State Well Numbering System. 

The three digits to the right of that indicate the type of agency 

according to the following system: 

000 to O49 Federal agencies 
050 to 099 State agencies 

100 to 199 County agencies 

200 to 399 Municipalities 
400 to 699 District - water, irrigation, etc. 
TOO to 999 Private agencies ‘ 

The agency codes and names used in this book are given below: 

Agency code Agency name 

1101 Los Angeles County Flood Control District 
3230 San Bernardino Water Department 

3400 San Bernardino Valley Water Conservation District 

3719 West End Consolidated Water Company 

3847 Gage Canal Company 
4103 Riverside County Flood Control and Water 

Conservation District 

4104 East San Bernardino County Water District 
4124 West San Bernardino County Water District 
4201 Colton Water Department 
4210 Anaheim Water Department 
4228 Ontario Water Department 
4235 Upland Water Department 

402 Ramona Irrigation District 
WHOS Vista Irrigation District 
4ho7 Lakeside Irrigation District 
4700 Palm Springs Water Company 
4701 Corona Foothill Mutual Lemon Company 
4702 Cucamonga Water Company 
4706 Fontana Union Water Company 
4709 Irvine Company 



Agency code 

4715 
h7he 
4748 
4750 
4776 
4780 
W781 

4785 
4793 
4850 
5000 
5050 
D051 
5100 
5102 
D131 
5202 
5203 
5204 

5205 
5229 
S401 
5408 
5420 

5703 
5704 
5708 
5710 
5711 
23 
5716 
Sith 
5718 
5720 
5721 
5723 
5724 

ZT 
5783 
5784 

5831 
5849 
5872 

Agency Name 

Santa Ana Valley Irrigation Company 

Yorba Linda Water Company 

San Antonio Water Company 

San Luis Rey Heights Mutual Water Company 

Southern California Water Company 

Cardiff Farms Mutual Water Company 
Corwin Well Company 

California Portland Cement Company 
Muscoy Water Company 

Kaiser Steel Corporation 

U. S. Geological Survey, Garden Grove 
California Department of Water Resources 

Patton State Hospital 

San Bernardino County Flood Control District 

Orange County Flood Control District 

Coachella Valley County Water District 

Oceanside Water Department 

Redlands Water Department 

Riverside Water Department 

Carlsbad Municipal Water District 
San Diego Water Department 

Beaumont Irrigation District 

Fallbrook Public Utilities District 

Helix Irrigation District 

California Water and Telephone Company 

Ebersole, E. J. 

Vail Company 

Green Mutual Water Company 

Escondido Mutual Water Company 
Rowe, W. P. 

South Elsinore Mutual Water Company 

Temescal Water Company 
Webb, A. A. 
Riverside Water Company 

Francis Mutual Water Company 

Pine Valley Mutual Water Company 

Del Dios Mutual Water Company 

Julian Mutual Water Company 

Riverside Highland Water Company 

Campo Water Company 

Quiet Hills Water Company 

Dawson, C. R. 

Corona City Water Company 
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X-17.A0 Imopael IshiRobstoMloyeakor Sibloibrontind Bee SM A 6 Sy oon 70 
X-17.BO Padien Hy drovorkcs SupUnActemccbsmismicuerss os) 6) eieeneen ats 70 

X-17.CO PintorLyGrologtes Sub unisce ln aiememicr se) sslltelnelite (ee 

X-19.00 Whitewater Hydrologic Unit cr mice Nye SuSE 6 (2 

X-19.A0 Morongo Hydrologic Saige Sat eile! aes see ee (ez 
X-19.CO san Gorgonio: Hydrologic) Subuniite co .. « «  « 72 

X-19.C1 Beaumont Hydrologic Subarea........-. 4 
X-19.C2 San Gorgonio Hydrologic Subarea....... 72 

X-19. D0 Coachella HydrologicySubunituen<, seaee <=) 6s {3 
X-19.D1 Garnet Hill Hydrologic Subarea ....... £3 
X-19.D2 Mission Creek Hydrologic Subarea ...... 16} 
K-19. DS Miracle Hill Hydrologic Subarea....... Th 
X-19.D4 Sky Valley Hydrologic Subarea ........ Th 
X-19.D6 Thousand Palms Hydrologic Subarea...... Th 
X-19.D7 Indio Hydrologic Subarea ... Saswis. te cea 15 

X-20.00 Clark Hydrologic. Und ty incl sete saci (< -e aL er ene 82 

X-22.00 Anza-Borrego Hydrologic Unit .<..s.s«..... 83 
X-22.A0 Borrego Hydrolopic Subunit w<eusem « «© oa se 83 

X-22.A3 Borrego Hydrologic Subarea .....-+.2.6 83 
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Colorado River Basin Drainage Province (X) 

Areal Code 

Octillo-Lower San Felipe Hydrologic Subunit . 

San Felipe Hydrologic Subunit . 

Mason Hydrologic Subunit .. 

Vallecito-Carrizo Hydrologic cence 

Carrizo Hydrologic Subarea = 

Vallecito Hydrologic Subarea 

East Salton Sea Hydrologic Unit . 

Santa Ana Drainage Province (Y) 

Areal Code 

Y-01.00 
Y-01.A0 

Y-0O1.AL 

Y-01.A3 
Y-01.B0 

Y=01.B1 
¥=01,.82 
Y-01.B3 
Y-01.B4 
Y-01.B5 
Y-01.B6 
Y-01.B7 

Y-01.C0 

1.D0 

-0 
Yi 
ry: 
Y- 

Ys 
Y-0O 

wo 

-01.C1 
-01.C2 
01.c4 

-01.C5 

-01.D1 

Santa Ana River Hydrologic Unit . 

Lower Santa Ana River Hydrologic eapanite 

East Coastal Plain Hydrologic Subarea . 

Santa Ana Narrows Hydrologic Subarea 

Middle Santa Ana River island Subunit . 

Chino Hydrologic Subarea 

Harrison Hydrologic Subarea . 

Claremont Heights Hydrologic epee 

Cucamonga Hydrologic Subarea . a 

Temescal Hydrologic Subarea . 

Arlington Hydrologic Subarea 

Riverside Hydrologic Subarea 

Lake Mathews Hydrologic Subunit . 

Coldwater Hydrologic Subarea 

Bedford Hydrologic Subarea 

Lee Lake Hydrologic Subarea . 

Terra Cotta Hydrologic Subarea 

Colton-Rialto Hydrologic Subunit 

Upper Lytle Hydrologic Subarea 

Lower Lytle Hydrologic Subarea A 

Upper Colton-Rialto Hydrologic Steen 

Colton-Rialto Hydrologic Subarea 

Reche Hydrologic Subarea 

Upper Santa Ana Hydrologic eeantt 

Cajon Hydrologic Subarea ow 

Bunker Hill Hydrologic Subarea 

Redlands Hydrologic Subarea. . 

Mentone Hydrologic Subarea 

Reservoir Hydrologic Subarea 
Crafton Hydrologic Subarea a's) ce 

Santa Ana Canyon Hydrologic Subarea . 

Mill Creek Hydrologic Subarea . 

Sycamore Hydrologic Subarea . 



Santa Ana Drainage Province (Y) 

Areal Code Page 

Y-01.F0O San Timoteo Hydrologie Subumit < . - . . . « . 237 

Y-01.F1 Yueaipa? Hydrologie Subpareay = 5 =< = © =« = « 237 

Y-01.F2 San Timoteo Hydrologic Subarea ....... ean 

Y-01.F4 Chicken Hill Hydrologic Subarea....... 238 
Y-O1.F5 Gateway Hydrologic Subarea ......... 238 
Y-01.F6 Oak Glen Hydrologic Subarea .......4.-. 238 
Y-O1.F7 South Mesa Hydrologic Subarea....... . 239 
Y-O1L.F9 Nobie Creek Hydrologic Subarea ....... 239 

Y-02.00 San Jacinto Valley Hydrologic Unit ....... end 
Y-02.A0 Perris (hydrologic: Subunit, DAs foe es Va. eee and 

Y-02.Al Perris Valley Hydrologic Subarea ...... 241 
Y-02.A2 Menifee Hydrologic Subarea ......... end 
Y-02.A3 Winchester Hydrologic Subarea........ ial 
Y-02.A4 Lakeview Hydrologic Subarea......... aha 
Y-02.A5 Hemet Hydrologic Subarea® 9. S95. . . « « ehe 

Y-02.B0 San Jacinto Hydrologic Subunit ........ 2h3 
Y-02.Bl1 San Jacinto Hydrologic Subarea ....... 243 

Y-02.CO Elsinore Hydrologie: Subunits. 739s". 2 «+ 2h5 
Y-02.C1 Elsinore Hydrologic Subarea......... 245 

San Diego Drainage Province (Z) 

Areal Code Page 

Z-01.00 San: duane Hydro Lopie Unit i. SBS oe. 3, og ay 28 
Z-01.A0 Laguna Hydrolosie Subunit 19295202 2 «a 2 = 248 

Z-01.A3 Miso Hydrologic Subarea) 275 25... «, 6 0 2h8 
Z-01.B0 San) Juan“Hydrologie*Subunit 9.) 2°. 2 we + = S 2h9 

Z-02.00 Santa Margarita Hydrologic Unit ......... 258 
Z-02.CO Murrieta “Hydrologic Subunit ~ <3. 2... . 6: 258 

Z-02.C1 Wildomar Hydrologic Subarea......... 258 
Z-02.C2 Murrieta Hydrologic Subarea......... 258 

Z-02.EO Pechangear ty Grologile (Subunit ieee 6 se «© 259 

Z-02.E1 Paubal. fydrollogte Subarea, & 2 ss 4 - = = << 2959 

Z-03.00 San: huis: Rey (Hydrolortertnity ee! 2, one ea 260 
Z-03.A0 Bonsall Hydrologic ‘Subuntt hear. <) chs. on 260 

Z-03.Al Missiont hy drotogtersuparea plement) <0) -) tie 260 

Z-03.A2 Bonsailaivnyarologichsupanea sismretren «) -) « «) lo) 261 
Z-03.B0 Monserate Hydrologiemsupundt rie tml 2) lll 265 

Z-03.B1 Pala Hydrologie Subarem ©) ey a 2 ss 8 265 
Z-03.B2 Pauma Hydrologic Subarea ..-..-...4..2. 265 

Z=-03.CO Warner Hy Groilloer er Subic torre emis cl (ou ills tanlte 266 
Z-03.C1 Warner Hydrologic Subarea.......2e6.-. 266 



San Diego Drainage Province (Z) 

Areal Code 

Z-04.00 
Z-04.F0 

Z-Oh4. F2 

2-05.00 
Z-05.A0 

Z-05.Al 
Z-05.A2 

Z-05.B0 
Z-05.Bl 
Z-05.B3 
Z-05.B4 

Z-05.CO 
Z-05.C1 
7,=05.C2 

Z-05.D0 
Z-05.D1 
Z-05.D2 
Z-05.D3 
Z-05. D4 
7,-05.D5 
2-05. D6 
Z-05.D7 

7-05.50 
Z-05.E1 
Z-05.E2 

Z-O7 .00 
Z-O7.A0 

Z-O7.Ae 

Z-O7.A5 
Z-Of .DO 

Z-O7.D2 

Z=-09.00 

Carlsbad Hydrologic Unit. . ean ver ee Ke 

Escondido Hydrologic Subunit ..... 

Escondido Hydrologic Subarea . - 

San Dieguito Hydrologic Unit. . niche CE peer ar 

San Dieguito Hydrologic Subunit ....... 

San Dieguito Hydrologic Subarea ...... 

La Jolla Hydrologic Subarea : . 

Hodges Hydrologic Subunit ....... 

Hodges Hydrologic Subarea ...... 

Felicita Hydrologic Subarea 

Bear Hydrologic Subarea .... 

San Pasqual Hydrologic Subunit. . 

Highland Hydrologic Subarea - 

San Pasqual Hydrologic Subarea. . 

Santa Maria Valley Hydrologic Subunit 

Ramona Hydrologic Subarea A es 

Lower Hatfield Hydrologic Subares Heiss Exe IG 

Wash Holjlow Hydrologic Subarea .....- -« 

Upper Hatfield Hydrologic Subarea 5 O 

batlens Hydrologic Subarea «2 1. « « « 

Hast Santa Teresa Hydrologic Subarea . 

lest Santa Teresa Hydrologic Subarea.... 

Senta Ysabell' Hydrologic Subumit ...... . 

Boden Hydrologic Subarea . 2 2-o 9 

Pamo Hydrologic Subarea ...... . 

San Diego Hydrologic Unit ... 5 9 4 

Lower San Diego Hydrologic Subunit a GY Gea 
antee Hydrologic Subarea ...... . 

El Monte Hydrologic Subarea ... 

Cuyemaca Hydrologic Subunit ......4... 

Spencersydrologi ec Subares = \cmrsiecie <r oe 

SUS ATere lek cehyfe loys aNOMUickhenG FA 6 Gio) S sd) dese 

Lower Sweetwater Hydrologic Subunit ..... 

Sweetwater Hydrologic Subarea 5 

Middle Sweetwater Hydrologic Subunit . 

Jamacha Hydrologic Subarea ........ 

Tia Juana Hydrologic Unit .... 

Monument Hydrologic Subunit 

Pine Hydrologic Subarea 

Campo Hydrologic Subunit . AR SORA Ne ones 

Cano Hydrologic Subarediis % «ues .. &) « 
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TABLE C-5 

SUMMARY OF PRINCIPAL GROUND WATER RECHARGE ACTIVITIES 
IN LAHONTAN, COLORADO RIVER BASIN, SANTA ANA, AND SAN DIEGO DRAINAGE PROVINCES 

DURING THE 1963-64 WATER YEAR 

Areal ; Agency ; Number yp ae oo 
: ’ “designation ’ conducting ~ of =} GsGinated 

Hydrologic unit = 5 P 3 3 amount 
code ‘ spreading © projects — : 

number “operation? * operated Tete 
: : : acre-feet 

Santa Ana River Unit Y-01.00 

Lower Santa Ana River 

Subunit Y-01.A0 

East Coastal Plain 

Subarea Y-O1.Al OCWD 4 124, 4okb 
AUC u hase 

Santa Ana Narrows 

Subarea Y-01.A3 SAVIC ab Xe) 
Middle Santa Ana River 

Subunit Y-0O1.BO 

Chino Subarea Y-OLB1l  SBCFCD 10 3304 
EWC 2 111 

Claremont Heights Subarea Y-O1.B3 PVPA 2 (@) 

CPWD ik 70 

Cucamonga Subarea Vie Oieeslp SAWC iL 518 
SBCFCD 2 lS 

Temescal Subarea Y-01.B5 RCFC&WCD 1 97 
Lake Mathews Subunit Y-O1.CO 

Coldwater Subarea Y-0O1.C1 TWC 2 102 

Lee Lake Subarea Y-01.c4 TWC 2 16 
Colton-Rialto Subunit Y-01.D0 

Colton-Rialto Subarea Y-01. D4 SBCFCD 2 nea 
Reche Subarea Y-01.D5 SBCFCD oF Mette 

Upper Santa Ana River 

Subunit Y-01.E0 
Cajon Subarea Y-01.E1 SBCFCD Ab n.a. 

Bunker Hill Subarea Y-O1.E2 SBCFCD 5 29 

SBVWCD ab 1,197 
Mentone Subarea Y-01.E4 SBVWCD all 332 
Santa Ana Canyon Subarea Y-O1.E7 SBVWCD al (e) 

Sycamore Subarea Y-0O1.E9 FUWC a IGS) 

San Timoteo Subunit Y-0O1.FO 

Yucaipa Subarea Y-O1.F1 SBCFCD iL Nee 

Oak Gler Subarea Y-01.F6 SBCFCD El mea 
Nobie Creek Subarea Y-O1.F9 RCFC&WCD aL al 

San Jacinto Valley Unit Y-02.00 
San Jacinto Subunit Y-02.B0 

San Jacinto Subarea Y-02.B1 RCFC&WCD iL 348 
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SUMMARY OF PRINCIPAL GROUND WATER RECHARGE ACTIVITIES 
IN LAHONTAN, COLORADO RIVER BASIN, SANTA ANA, AND SAN DIEGO DRAINAGE PROVINCE 

DURING THE 1963-64 WATER YEAR 
(continued) 

: : :Reported or 
; Areal . Agency ; Number ; aed 

Hydrologic unit designation, conducting ; of AES 
code . Spreading . projects : spread ar 

number  joperation® | operated | gore-feet 

TOTAL LOCAL AND IMPORTED WATER REPORTED SPREAD 131,956 

TOTAL IMPORTED WATER REPORTED SPREAD 124,510 

TOTAL LOCAL WATER REPORTED SPREAD 7,446 

a. Abbreviations of agencies conducting spreading operations are: AUWC- 

Anaheim Union Water Company; CPWD-City of Pomona Water Department; EWC- 

Etiwanda Water Company; FUWC-Fontana Union Water Company; OCWD-Orange 

County Water District; PVPA-Pomona Valley Protective Association; 

RCFC&WCD-Riverside County Flood Control and Water Conservation District; 

SAVIC-Santa Ana Valley Irrigation Company; SAWC-San Antonio Water 

Company; SBCFCD-San Bernardino County Flood Control District; SBVWCD-San 

Bernardino Valley Water Conservation District; and TWC-Temescal Water 

Company. 
Total quantity in unsoftened Colorado River water. 
Includes 86 acre-feet of unsoftened Colorado River water. 

Eighth Street Project reporting, nine others not available. 
Waterman Canyon and East Twin Creek, Rialto Baseline, and Devil Canyon 

Projects reporting, two others not available. 
onada 
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LAHONTAN DRAINAGE PROVINCE 

W-01.00 

wW-02-00 

wW-03.00 
w-03. 
W-03.80 
W-03.C0 
w-03.D9 

W-04.00 

W-05.00 

W-06.00 
W-062A0 
wW-06.B80 

W-07-00 
W-O7-A0 

w-O7.B8O 

w-08.00 
W-08-A0 
W-08.80 
W-08.CO 
w-08.00 

Ww-09.00 
W-09.A40 

W-O96AL 
W-O96A2 

W-O96A3 

w-09.580 
W-09-81 
W-09-62 
w-C9.83 
W-O9.86 

W-09.C0 
W-09-C1 
W096? 

W-09.D0 
W-09-D2 
W-09-D2 
W-09-D3 
W-09.04 

W-10200 

W-11.00 

W-12-00 

W-13.00 
W-13-A0 
W-13.80 

W-14.00 

W-15.00 
W-15-80 
W-15.80 

W-16.00 

W-17.00 

wW-18.00 

W-19.00 

W-20.90 
W-20.A0 

W-20.80 
W-20.B1 
W-20.82 

w-20.C0 
W-20.D00 

W-20-01 
W-20-02 

W-20.03 
W-20.E0 
wW-20.FO 
wW-20.G60 
W-20-H0 

PLATE | 

MONO HYDRO UNIT 

ADOBE HYDRO UNIT 

OWENS HYORO UNIT 
LONG HYDRO SUBUNI 
UPPER OWENS HYDRO 
LOWER OWENS HYORG 
CENTENNIAL HYDRO 

~ A 

>. 

FISH LAKE HYDRO UNI 
=, 

DEEP SPRINGS HYDRO 

EUREKA HYDRO UNIT 

SALINE HYDRO UNIT 
SALINE HYDRO suBU! 
CAMEO HYDRO SUBUNBA TNE 

RACE TRACK HYDRO UN] § yy KEY MAP RACE TRACK HYDRO He 
HIDDEN VALLEY HYD! aN 
ULIDA HYDRO SUBUN 

SAND FLAT HYDRO S 

4 AMARGOSA HYDRO eyoR UO! AP Ae «a 
DEATH VALLEY HYOR YS ANY, 

DEATH VALLEY ng foe OX 
HARRISBURGH HYD See § , 
WINGATE WASH HYGEMY 

VALJEAN HYDRO SuBY 
AVAWATZ HYDRO Si 
RED PASS HYDRO 
VALJEAN HYDRO S' 
SHADOW HYDRO SU! 

FURNACE CREEK HYDRA 
FURNACE CREEK HY 
GREENWATER HYDRG 

AMARGOSA HYDRO Sud 
CALICO HYDRO SU 
AMARGOSA HYDRO 
CHICAGO HYDRO su 
CALIFORNIA HYORG 

PAHRUMP HYDRO UNIT 

MESQUITE HYDRO UNIT 

IVANPAH HYDRO UNIT 

OWLSHEAD HYDRO UNIT LEGEND 
LOST LAKE HYDRO su 
OWLSHEAD HYDRO SUB) 

cme ees mA AGE PROVINCE BOUNDARY 
LEACH HYDRO UNIT —— HYOROLOGIC UNIT BOUNDARY 
NELSON HYDRO UNIT 

MCLEAN HYDRO SUBUN| 
NELSON HYDRO SUBUN| 

—_— + * ———_ HYDROLOGIC SUBUNIT BOUNDARY 

——————— HYDROLOGIC SUBAREA BOUNDARY 

8 R T 
a 283 AREAL CODE NUMBER 

GOLOSTONE HYDRO UNIT 

WATER BEARING SEDIMENTS 
COYOTE HYDRO UNIT 5 

WELL AT WHICH WATER LEVEL Y, 

¢ ASW SS OLAS FLUCTUATION IS SHOWN 

WINGATE PASS HYDRO 
WILO ROSE HYDRO suf 

WHITE SAGE HYDRO 
WILD ROSE HYDRO 

LEE FLAT HYDRO suB 
SANTA ROSA FLAT Hy! 

SANTA ROSA FLAT 
RAINBOW HYDRO Su’ 
SILVER DOLLAR Hy 

DARWIN HYORC SUBUN 
PANAMINT HYDRO SUB) 
BROWN HYORO SUBUNI 
ROBBERS HYDRO Su8U: 

STATE OF CALIFORNIA 

THE RESOURCES AGENCY 
DEPARTMENT OF WATER RESOURCES 

SOUTHERN DISTRICT 

HYDROLOGIC DATA, 1964 
a ae 

LOCATION OF WELLS AT WHICH 

WATER LEVEL FLUCTUATIONS ARE SHOWN 
LAHONTAN DRAINAGE PROVINCE (W) 

SCALE OF MILES 

0 10 20 

1966 





AREAL DESIGNATIONS 
HYDROLOGIC UNITS» SURMITS ANO sUBAnras 

aeenyan OFATMUGE PRoWINCE 

sOv0 HrDED UNIT 
ADORE AYDRG UNIT 
‘OWENS HryDRO UNIT 
LONG HYDRO 

‘CENTENNIAL HYDRO SUBUNIT 
FISH LAKE HerD39 UNIT 
DEEP SPRINGS HYOR UNIT 
SURECA HyORD UNIT 

NARSLE BETH HYDRD SUBUNIT 
EUaECE HyDED SUBUNIT 

SALINE HyDRO UNIT 
SALINE mvORO SUBUNIT. 

eUNTT 
wennee MACE TRACE HYDRO UNiT 

weos-no RACE TAACK wYDRO SUBUNIT 
py 

Eidiromt move sustece 
w-16.98 panne wrO80 UNIT 
wetleoo sesouITE wrbeo wait 
e-12e5oIvANpan mre uniT 
wr1ns0¢OWLaMEAD HYDEO UNIT 

AD LOST LAKE wrfDR2. SUBUNIT ‘OMLSMEAD mYD80 SUBUNIT 

ELsom HYDRO UNIT 
AN MYDD SUBUNIT 

Hrroao susuNIT 
16098 BICCLE wrDaG UNtT 
1700 -GOLDRTORE HYDAD UNIT 

708 iT 
SANTA #058 FLAX HYDRO samuntT. 

SANTA SOSA FLAT HYDRO SuBAR Now = see 

20.60 
H-20.MD—RORBERS HYDRO SUBUNIT 

SEARLES HYDRO UNIT 
st 
PILOT ENDS HYDEO SUBLMIT 

050 wrDeo Lv 
ILO MORSE WYD#O SUBUNIT 
oso WYDEO SUBUNIT 

\PE® CACTUS HYDRO UNIT 
INDIAN WELLS HYDRO UNIT 

"POSE HYDRO susuATY INOTAN WELLS MYDRO SUSUMIT 
Feteont KvoRS UntT 
OVE SPRINGS HYOKO SUBUNIT 
KELSO LANDIS HYDI0 SUBUNIT 
EAST TEMACHAB] HYDRO SUBUNIT 
OEM HYDEO SUBUNIT 

ANTELOPE HrD30 UIT 

DC CREEK MYDED susazea 
CUDDERACE HYDRO UNIT 
SUAVE wrD90 uwir 

sane 5058 LACE HyOeO SUBAREA 
AELSO mYD29 SUGUNIT 

SPOADWELL HYDRO UNIT 

PLATE | 

LEGEND 

DRAINAGE PROVINCE BOUNDARY 
HYDROLOGIC UNIT BOUNDARY 
AYDROLOGIC SUBUNIT BOUNDARY 
HYDROLOGIC SUBARES BOUNDARY 
AREAL CODE NUMBER 

WATER BEARING SEDIMENTS 
WELL AT WHICH WATER LEVEL 

INZAW-33L1@ FLUCTUATION IS SHOWN 

STATE OF CALIFORNIA 
THE RESOURCES AGENCY 

DEPARTMENT OF WATER RESOURCES 
SOUTHERN DISTRICT 

HYDROLOGIC DATA, 1964 
= 

LOCATION OF WELLS AT WHICH 
WATER LEVEL FLUCTUATIONS ARE SHOWN 
LAHONTAN DRAINAGE PROVINCE (W) 

SCALE OF MILES 
z A 10 22 x 

1366 
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ARE 
HYDROLOGIC UN 

COLORADO RIVER BASI 

X-01.00 LUCERN! 

X-02-00 JOHNSO! 

X=03400 BESSEM 

X-04.00 MEANS 

X=-05-00 EMERSO! 

X-06.00 Lavic 

X-07.00 DEADMAN| 

x-08.00 JOSHUA 
X-08.A0 WARRE| 
X-08.80 COPPE 

X=09.00 DALE Hy’ 
X-096A0 TWENT 
xX-09.80 OALE 

%-10.00 BRISTOL 
X=10.A0 BRIST 
X-10.80 FENNE| 

X-11.00 CADIZ Hi 

X-12.00 WARD Hy 

X-13.00 PIUTE Hi 
X-13.A0 LANFA 
X-13.80 PIUTE 
X=13.C0 NEEDL 

X=14.00 CHEMEHU 

X-15-200 COLORAD) 
X-15.A0 VIDAL 
X-15eB0 BIG w 
X-15-CO QUIEN 
X=-15.00 PALO 
X=15.E0 ARROY: 

X-16.00 RICE HY 

X-17.00 CHUCKWA 
X=-170A0 FORD 
X-17280 PALEN 
X=17-C0 PINTO 
X-17.00 PLEAS, 

%-18.00 HAYFIEL 

X=19.00 WHITEWA 
X-190A0 MORON: 
X-19.B0 SHAVE 
X-19.CO SAN GI 

X-19-C1 BEA 
X-196C2 SAN 

X-19-00 COACH 
X-19.D1 GAR 
X-19.02 MIS: 
X-19-03 MIR, 
X-19-04 SKY 
X-192D5 FAR: 
X-19-D6 THO! 
X-19.D7 IND 

X-20200 CLARK H 

X-21200 WEST SA 

X-22.00 ANZA 60) 
X=220A0 BORRE! 

X-220A1 TER! 
X-22eA2 COL! 
X=-220A3 BOR 

X=22080 ocor! 
X-220C0 MESCA’ 
X-22200 SAN F 
¥-222E0 MASON 
X-220F0 VALLE 

X-220F1 CAR 
X-220F2 VAL 
X-226F3 CAN! 

X=22.60 JACUM! 
X-22-G1 MCC. 
X=22 262 JAC 

X-23200 IMPERTA\ 
. X=23-0A0 IMPER 

X=-23-80 coYoT 

X-24.00 DAVIES 

X-25.00 EAST SA 

i X-26200 AMOS-0G 

X=27200 YUMA HY 





AREAL DESIGNATIONS 
HYDROLOGIC UNITS» SUBUNITS AND SUSARESS 

COLORADO RIVER BASIN DRAINAGE POVINCE 

x-01.00 LUCERNE HYDRO UNIT 
x-02.00 JOHNSON HYDRO UNIT 
4-03.09 SESSEMER HYDRO UNIT 
x-04400 MEANS HYORO UNIT 
£-03400 EMERSON HYDRO UNIT 
4-06.00 Lavic HyDRO UNIT 
¥-07.00 DEAOMAN HYDRO UNIT 

2OSMUA TREE HYDRO UNIT 
MARREN HYDRO SUBUNIT 
COPPER MOUNTAIN HYDRO SUBUNIT 

DALE HYDRO UNIT 
TWENTYNINE PALMS HYDRO SUBUNIT 
DALE HYDRO SUBUNIT 

BRISTOL HYDRO UNIT 
BRISTOL HYDRO SUBUNIT 
FENNER HYDRO SUBUNIT 

A-11.00 CADIZ HYDRO UNIT 

K-12.00 WARD HYDRO UNIT 

-13.00 PIUTE HYDRO UNIT 
X-13440 LANFAIR HYDRO SUBUNIT 
-13.80 PIUTE HYDRO. SUBUNIT 
K-)3.60 NEEDLES HYDRO SUBUNIT 

x=14.00 CHEMEMUEVIS MYDRO UNIT 
4-15.00 COLORADO HYDRO UNIT 

0 VIDAL HYDRO SUBUNIT 
BIG WASH HYDRO SUBUNIT 
QUIEN SABE HYDRO SUBUNIT 
PALO VERDE HYORO SUBUNIT 
ARROYO SECO HYDRO SUBUNIT 

®1CE HYDRO UNIT 

CHUCKWALLA HYDRO UNIT 
FORD HYDRO SUBUNIT 
PALEN HYDRO SUBUNIT 
PINTO HYDRO SUBUNIT 
PLEASANT HYDRO SUBUNIT 

HAYFIELO HYDRO UNIT 

WALTEWATE® HYDRO UNIT 
MORONGO HYORO SUBUNIT 
SHAVERS HYDRO SUBUNIT 
SAM GORGONIO HYDRO SUBUNIT 

BEAUMONT HYDHO SUBAREA 
SAN GORGONIO HYDAO SUSAREA 

COACHELLA HYDRO SUBUNIT 
GARNET HILL HYDRO SUBAREA 
MISSION CREEK HYDRO SUBAREA 
MIRACLE HILL HYDRO SUBAREA 
StY VALLEY HYDRO SUBAREA 
FARGO CANYON MYORO SUBAREA 
THOUSAND PALMS HYORO SUSARES 
INDIO HYDRO SUSARES 

£20400 CLARE HYDRO UNIT 

X-21400 WEST SALTON SE& MYORO UNIT 
2-22.00 ANZA BORREGO HYDRO UNIT 

x 2 BORREGO HYORO SUBUNIT 
TERWILLIGER HYOBO SUBAREA 
COLLINS HYDRO SUBAREA 
BORREGO HYORO SUBAREA 

OCOTILLO-LA $ FELIPE HYDR SUBUNIT 
MESCAL BAJADA HYDRO SUBUNIT 
SAN FELIPE HYDRO SUSUNIT 
MASON HYDRO SUBUNIT 
VALLECITO-CARBIZO HYDRO SUBUNIT 

CARRIZO HYDRO SUBARES 
VALLECITO HYDRO SUBAREA 
CANESRAKE HYDRO SUBAREA 

JACUMBA HYDRO SUBUNIT 
MCCAIN HYORO SUBARES 
JACUMBA HYDRO SUSARES 

IMPERIAL HYDRO UNIT 
IMPERIAL HYDRO SUBUMIT 
COYOTE WELLS HYORO SUSUNIT 

1-24 400 DAVIES HYDRO UNIT 

4-25.00 EAST SALTON SEA HYDRO UNIT 
AMOS-OGILEY HYDRO UNIT 

YUMA HYDRO UNIT 

IN/4W-35L1 @ 

LEGEND 

DRAINAGE PROVINCE BOUNDARY 
HYDROLOGIC UNIT BOUNDARY 
HYDROLOGIC SUBUNIT BOUNDARY 
HYDROLOGIC SUBAREA BOUNDARY 
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STATE OF CALIFORNIA 
THE RESOURCES AGENCY 

DEPARTMENT OF WATER RESOURCES 
SOUTHERN DISTRICT 

HYDROLOGIC DATA,1964 
=_ 

LOCATION OF WELLS AT WHICH 

WATER LEVEL FLUCTUATIONS ARE SHOWN 

COLORADO RIVER BASIN DRAINAGE PROVINCE (X) 
SCALE OF MILES 
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STATE OF CALIFORNIA 

THE RESOURCES AGENCY 

DEPARTMENT OF WATER RESOURCES 
SOUTHERN DISTRICT 

HYDROLOGIC DATA,19°4 
= 

LOCATION OF WELLS AT WHICH 
WATER LEVEL FLUCTUATIONS ARE SHOWN 

SANTA ANA DRAINAGE PROVINCE (Y) 

SCALE OF MILES 
3 ° 6 

1966 





AREAL DESIGAATIONS 
HYDROLOGIC UNITS» SUBUNITS AND SUBAREAS 

SANTA ANA DRAINAGE PROVINCE 
‘y-0100 SANTA ANA RIVER HYDRO UNIT 

SANTA ANA NARROWS NYORO SUGAMEA 
MIDDEE SANTA ANA Bly HDR SUBUNIT 

TERRA COTTA HYDRO SUBAREA 

LOWER LYTLE HYDRO SUBAREA 
UPPER COLTON-RIALTO HYDRO SUBAREA 
KOLTON-RIALTO HYDRO SUBAREA 
RECHE HYORO SUBAREA 

UPPER SANTA AMA rDRO SUBUNIT 

OAK GLEN HYDRO SUBAREA 
SOUTH MESA HYDRO SUBAREA 
TRIPLE FALLS CREEK MYDRO SUBAEA 
OBIE CREEK NYDRO SUBAR 

SAN BERNARDINO MT HYDRO Shen 
BEAR VALLEY HYDRO =UBARI 
SEVEN OAKS nYDRO SUBAREA, 
BALDWIN HYDRO SUBAREA 

SAN JACINTO VALLEY HYDRO UNIT 
PERRIS HYDRO SUBUNIT 

PERHIS VALLEY RYOKO sUsAKEA 
MENIFEE MYORO SUBAREA 
WINCHESTER HYDRO SUBAREA 

SUBAR' 

¥-02-C4 ELSINORE HYDKO SuBARER 
y-02-c2 PAILAOAD HYDAO SuBARES 

SAN BERNARDINO BASE 

LINE TIN 

TIS 

PUDDINGS: 
RESERVOIR: 

T2S__Los ANGELES 
T35. ORANGE 

MERIDIAN 

» SAN BERNARDINO 
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HYDROLOGIC UNIT BOUNDARY 
HYDROLOGIC SUBUNIT BOUNDARY 
HYDROLOGIC SUBAREA BOUNDARY 
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WATER BEARING SEOIMENTS 
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DEPARTMENT OF WATER RESOURCES 
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=> 
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WATER LEVEL FLUCTUATIONS ARE SHOWN 

SANTA ANA DRAINAGE PROVINCE (Y) 
SCALE OF MILES 

3 





2-02 eHs 

2-02.10 
Z-O02011 
Z-02012 
Z2-02013 
2-02014 

2-03.00 
2-03.2A0 

Z-030Al 
2-030eA2 
2-03-A3 
Z-O030AS 
2-034A5 
2-03-46 

2-03.80 
2-03.81 
2-03-82 
2-03.83 

2-03.C0 

2-03.4C1 
2-936C2 

2-06.00 
2-04+A0 
2-04.80 

7-04.81 
2-04.82 

2-06.C0 

2-04.C1 
2-04.C2 

2-94.00 
7=-06.E0 

Z-040E1 
2-040E2 
2-04.E3 

2-06.F0 
7-046F1 

Z-O46F2 
2-54 0F3 

2-05.00 
27-95-6A0 

Z=-CSeAl 
Z-05-A2 

2-05.50 
2-05.81 
2-05.82 
2-05.83 
7-05.86 

2-05-CO0 

2-05-01 
2-056C2 

7=05-C3 
7-054C4 

2-05.25 
2-056C6 

7-05.00 
2-95-01 

2-05602 
2-05-03 
2-05204 
2-95.05 
2-05.06 
2-05.07 

2-05.69 
2-05-E1 
2-05.E2 
272-9505 
2-05.E4 

SAN JOAOUI 
Lac HYDRO 

ALISO HYDRO 
DANA POINT HYDRO sSumARFA 

SAN JUAN HYDRO SUBUNIT 
SAN CLEMENTE HYDRO SUSUNIT 
SAN MATEO HYDRO SUBUNIT 
SAN ONOFRE HYDRO SUPUNIT 

SAN ONOFRE HYDRO SURAREA 
LAS PULGAS HYDRO SURAREA 
STUART HYDRO SUBAREA 

SANTA MARGARITA HYDRO UNIT 
YSIDORA HYDRO SUBUNIT 

YSIDORA HYDRO SURAREA 
CHAPPO HYDRO SUBAREA 
UPPER HYDRO SUBAREA 

DE LUZ HYDRO SUBUNIT 
DE LUZ HYDRO SURARES 
GAVILAN HYDRO SUSAREA 
VALLECITOS YD SUBAREA 

MURRIETA HYDRO SUBUNIT 
WILDOMAR HYDRO SUBAREA 
MURRIETA HYDRO SUSAREA 
FRENCH HYDRO SUBAREA 
LOWER DOMENIGONI HYDRO SUBAREA 

DOMENIGONI HYDRO SUSAREA 

DIAMOND HYDRO SUMAREA 
AULD HYDRO SUBUNIT 

AULD HYDRO SUBAREA 

GERTRUDIS HYDRO SUSAREA 

LOWER TUCALOTA HYDRO SUSAREA 

TUCALOTA HYDRO SUSAREA 
PECHANGA HYDRO SUBUNIT 

PAUBA HYDRO SUBAREA 
PECHANGA HYDRO SUBAREA 

WILSON HYDRO SUBUNIT 
LANCASTER VALLEY HYDRO SUBAREA 

LEWIS HYDRO SUSAREA 

WILSON HYDRO SUBAREA 
ANZA HYDRO SUSUNIT 

LOWER COAHUILA HYDRO SU 

UPPER COAHUILA HYDRO 

ANZA HYDRO SUBAREA 
RURNT HYDRO SUSAREA 

AGUANGA HYDRO SUBUNIT 
VAIL HYDRO SUSARES 

DEVILS HOLE HYDRO SUBAREA 

REDEC HYDRO SUBAREA 
AGUANGA HYDRO SUSAREA 

OAKGROVE HYDRO SUBUNIT 

LOWER CULP HYDRO SUBAREA 
OAKGROVE HYDRO SURAREA 
DODGE HYDRO SUBAREA 
CHIHUAHUA HYDRO SUBAREA 

SAN LUIS REY HYDRO UNIT 
BONSALL HYDRO SUBUNIT 

MISSION HYDRO SUBAREA 

BONSALL HYDRO SUBAREA 

MOOSA HYDRO SUBAREA 
VALLEY CENTER HYDRO SUSAREA 
WOODS HYDRO SUBAREA 
RINCON HYDRO SUBAREA 

MONSERATE HYDRO SUBUNIT 
PALA HYDRO SUBAREA 
PAUMA HYDRO SUBAREA 

SAN LUIS REY HYDRO SUSAREA 

WARNER HYDRO SUBUNIT 

WARNER HYDRO SUBAREA 
COMBS HYDRO SUBAREA 

CARLS8AD HYDRO UNIT 

LOMA ALTA HYDRO SUBUNIT 
VISTA HYDRO SUBUNIT 

CARLSBAD HYDRO SUBAREA 
VISTA HYDRO SUBAREA 

AGUA HEDIONDA HYDRO SUBUNIT 
AGUA HEDIONDA HYDRO SUSAREA 
BUENA HYDRO SUBAREA 

ENCINAS HYDRO SUBUNIT 
SAN MARCOS HYDRO SUBUNIT 

BATIOUITOS HYDRO SUBAREA 
SAN MARCOS HYDRO SU®4REA 
TWIN OAKS HYDRO SUBAREA 

ESCONDIDO HYDRO SUBUNIT 
SAN ELIJO HYDRO SUBAREA 
ESCONDIDO HYORO SUBARE 
LAKE WOHLFORD HYDRO SUSARES 

SAN DIEGUITO HYDRO UNIT 
SAN DIEGUITO HYDRO SUSUNIT 

SAN DIEGUITO HYDRO SUPAREA 
LA JOLLA HYDRO SUSAREA 

MONGES HYORO SUSUNIT 

HODGES HYDRO SUBAREA 

GREEN HYDRO SUBAREA 
FELICITA HYDRO SUBAREA 
REAR HYDRO SURAREA 

SAN PASQUAL HYDRO SUBUNIT 
HIGHLAND HYDRO SUBAREA 
SAN PASGUAL HYDRO SUBAREA 
REED HYDRO SU. AREA 
HIDDEN HYDRO SUBAREA 

GUEJITO HYDRO SURAREA 
VINEYARD HYDRO SUBAREA 

SANTA MARTA VALLEY HYDRO SUBUNIT 

RAMONA HYDRO SUBAREA 

LOWER HATFIELD HYDRO SUBAREA 

WASH HOLLOW HYDRO SUBAREA 
UPPER HATFIELD HYDRO SUBAREA 
RALLENA HYDRO SUBAREA 
EAST SANTA TERES& HYDRO SUBAREA 

WEST SANTA TERESA HYDRO SUBAREA 
SANTA YSABEL HYDRO SUBUNIT 

FODEN HYORO SUBAREA 
PAMO HYDRO SUBAREA 
SUTHERLAND HYDRO SuUmaRFS 

SANTA YSASEL HYDRO SUSAREA 

© Be 

KEY MAP 
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—————-—— HYDROLOGIC SUBAREA BOUNDARY 
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INSSW=SSEV@ FLUCTUATION IS SHOWN 

STATE OF CALIFORNIA 
THE RESOURCES AGENCY 

DEPARTMENT OF WATER RESOURCES 
SOUTHERN DISTRICT 

HYDROLOGIC DATA, 1964 
ee 

LOCATION OF WELLS AT WHICH 

WATER LEVEL FLUCTUATIONS ARE SHOWN 

SAN DIEGO DRAINAGE PROVINCE (Z) 
SCALE OF MILES 

i] 4 

1966 





AREAL DESTONATIONS 
HYDROLOGIC UNITSs SUBUNITS AND SUSAREAS 

SAN DIESO DRAINAGE PROVENCE 

£01.99 S48 AN HOD UNIT 
LAGUNA YORD SUMUNET 

SAN JOKQUIN HYDE SuRARrA 

SAN JUAN 91789. SUBUNIT 
SAN CLEMENTE MYORO SUMUNI 
SAS MATED mrYDEO SUSUNIT 
SAN ONOFRE HYDRO SUPUNTT 

SAN OADFAE wrORD susere® 

santa 
WSIOORA HYDRO SUBUNIT 

YSIOORA HYDRO 50m, 
<HADED HYDRO SUSLECS 
UPPER HYDRO SUBARER 

DE LUE MYDRO SUAUNIT 
DE Luz Mypen sume 
GAVILAN HYDRO SU 
VALLECIOS ~YDEO SunARrA 

MURRIETA yerD2D BUN 

u DOMENIGONT MYONO SUAAMES 
DIAMOND MYORO SUNARE® 

Lawf® TUCALOTA MyDaD suManes 
TUCALOTA m¥OR0 SunARt® 

PECMANGA HYDRO SUSUSIT 
2-57681 
202682 

MALSON HYDRO. SURONTT 
LANCASTER VALLEY nYDED SUS: 
LEWIS HYOWD suBKare 
MILSON HYDRO SUBAREA 

2-02.60 ANEA HYDEO SUBUNIT 
LOWER COAMUICA HYDRO sunAse® 

COAMUILA HYDIO SU 
wrpeo sAmaare 

UENT MYDED SURI 
AGUANGA HYDIO SUMMIT 

brDaD Dusk 
2 LS MOLE mrvRO sm 

rooney EC HYDRO SUBAELA 
2eorene AGUANGA HYDRO QsKera 

F-22610 OAEGBOVE HYDRO SUAUNTT 
253611 LOWE® CULE pr¥DED supa 
z-2761? SNEGROVE MYDD $uN 
z SORGE HYDRO Sus: 

Sn LUIS REY erDaO UNIT 
HONEAKL HYDRO SURUN 

MISSION rrt@O SU 
DONKALL HYDAD SUTAEEA 
Meosh HYDRO SUBAREA 
VARUEY CENTER MYDRO SUBAREA 

PALA HYDRO 
SAUNA HYDRO. Su 

LUIS REY HYDRO SUSKHEA 
myoRD SUBUNIT 

CARLSSAD HYORD UNIT 
LOMA ALTA HYDRO SUNUNIT 
VISTA H¥DeO SUBUN) 

CASLEBAD mYDRO 

tater 
SN MANCOL MYORO susaze a 
TWIN ONES MYDEO SUBAREA 

ESCONDIDO WORD SUBUNIT 
SAN C4199 HYDRO Sum 
ESCONDIDO HYDRO SUBAREA 
LAKE WOLFORD MYDRO SusAzee 

BEAR HYDRO SuhAaE® 
SAN PASQUAL HYDRO SUBUNIT 
HIGMLAND M¥DKG SUBAREA 
SAN PASCUAL MYON SUBARE. 
EEO wYDRD sy ARES 
MIOOEN HYDRO SUSARCA 
uEJITO WevneO Hm 
VINEYARD Men Sy8 

SANTA wAgTA VALCEY 
BAMOWA MYDED SUB 
LOWER MATFICLD HYDRO SUBAREA 
MASH HOLLOW eYDRO SUNAREA 
UPBER HATFIELO ievDRD SuDAREA 
ALLEN HYDED SUsANCA 
WEsY SANTA TeuE: 

SANTA YGAMEL MYOND SUMUMT? 
RODEN MYDRO BUN) 
Pann mYDRD SKM 
SUIMESLAND w¥DRD qUeaNe® 

Tose. SANTA YSAREC WYDeD um 

—— —_ - NS 

EAST SANTA TLAE5A wyORO suBAMEA 
VDRO SUBAREA 

DIEGO NYDUO 
MISSION SAW OIEGO HYPE 
SINTER HDG SUBEPES 
{ke CAION YDFO SuTADre 
COCMES MYDED SUROCA 
FL MONTE MYDEO SURSEFE 

SAN VICEATE HYDRO SUBUNIT 
SAN VICENTE WYORO SUDARTA 
FIMBALL FDO SUBAREA 
GOWER HYDRO SUDA: 
BARONA HYDRO SUBAREA 

CORONADO HYDRO USIT 
POINT LOMA HYDRO SUBUNIT 
SAN DIEGO MISA HYDRO 
LINDBERG KORO SUBBREA CHOLLAS HYDRO SURARER 

PABADISE MYD¥D SUBUNIT 

DED SumUNIT 
MyDRO SUBAPE 

SWEETMATES HYORD SuSA8i 
MIDDLE SWEEIWATE® HYORO SUBUNIT 

JAMACHA HYDRO SUG ANCA 
HILUSOALE HYORO SUEAREA 
OEHESA NYORO SUBARE 
GALLOWAY HYDEO SUF 
SEQUAN MYORO SUBARE 
ALPINE HEIGHTS HYDND SUBARES 

UPPER SWEETWATER =YDED SUBUNIT 
LOVELAND MYDeD SUEARES 
GAPATUL KYDRO SUBASEA 
WIEIAS HYDRO SUBAREA 
DESCANSO HYDRO SUBAREA 
GARNET HYDRO SUSARER 

ea 

OTAY MyDRO UNIT 
CORONADO HYDRO SUBUNIT 

¥ KYOKO SUBUNIT 
OULZURA M¥OUO SUBUNIT 

suBaaea 
JAMLL HYDRO SUSAEEA 

suRAven 

mfDED SUBAREA 
ENGINEER SPRINGS WYDBO SUBAREA 

HYDRO UNIT 
80 SUBUNIT 

THA JUANA WYOKD SUBARER 
SAN YSIORO HYDRO SUBAREA 

POTRERD HYDRO SUBUNIT 

Ta guy 

MARBON MYDED SUBANEA 
SEE CANYON HYDRO SURAREA 

2-11.83 SARSETT HYDRO SUD 
potas ROUND POTRESO HYDRO SuBAGEA 
21ers POTRERO HYDRO SUBARER 

11.60 BARRETT LARE HYDRO SUBUNIT 
£-11,00 
i 

MOMUMEAT HYDRO SUA! 
MORENA KYDEO SUBU! 

CANDO HYDRO GUBUNIT 
TECATE WYDEO SUBAREA 
cANOO HYORD SUE 
CLOVER FLAT HYDAD SU? 
HILL MYDRO SUBKRES 
MIPASS HYDRO SURANEA 

SAN BERNARDINO 

MERIDIAN 

2a 

We 
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yo 2 3 ope 784 H 
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WATER LEVEL FLUCTUATIONS ARE SHOWN 
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